Jogoogogodod

gogn goooboobboodd
godn gooboboboooggn

HEN .00/0

goon goobbob:ooobbbbogo

gogobobob:oooobooo
guoooob:oobobugod

oooo 000000/00000000
0000 0755-29650875 13590406205
ot

guooobobogdgad

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guodubobbooooooobbogoad
gobbobpouoggogobobbboddgooobobobbbooooooobobboooogaya
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbudoogo, oo bobbboooooobbobbbooooooonoo
Ooo0oooooblo0booboooobobooooboobooooDbooboooDboWo
oo)ybooooooboobooobooboobbooboobbooboobboobooo,
guduobobbtbgodouobbuoooobbbbouooooboonbon

gobobbbddoodbb—>0hobudogogobbbbboooouobboobobbouoooad
gobopobobooocouooonbbbliooddnDDbDdaoox 700mmd OO O 0O 300x 800mmU O O 2
SOx sSoommU I Oo3rsoom2u oo ooogz2800ddnnnnnnd?2009
gooostbedibbobbbdduilsmbbbbodooooobbobbbooooooobbobobooo
Ooodbobooboobobooboolassmmidbogooboooo3mmiobooononogu
gopboobooseuseee dogdopoboobboggzedsgggoobobobboooooon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobobobbobooooooobbobee0i70bbbbbooooobbobbbooooooobDbo
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gob2—=3ommUiioobooodgodobbocooooooobobooooooooboon
gbbedpsubbbobbodisd2Mpal JUOOOOODODOOOOOOOODODODODOG
gobobo4000000000000DODOO0O0OUO0O0ODLDDLDDODDOUO0OODUODUOUDDDbDDbDDOOO
gobbobbbodgoguobbsiudodoobooobboooogobooobooooad
gobobobbooogo3t24mmiiipbobbooooooo.oogolboamioonombib2m



gooooobooooo3mmiddonppsonsee bbb obbooooooo*od
gobobobobbooood:bbooooobbsexxtibobbbooooooobboDDhDO4ssn
I = A O Y R I 21V [ o
O00000O00bO00bobOGesoo—200)[1]0 000000000 DO0ODn OO 24MPa
gobbobob2000000bbobobbodooooob bbb bbb oooo
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gobobobboogsgeboooobbbbboooooob bbb bbbobooo
gobbob.oooobbobbodooooboboobobbbdoooooobboobbboooooobobon
gobobobobbooooooobbobbbodoogoob bbb bDbDbbbooUood
oboobooooboobooobooboobDboobooboboobooo@O)Yy»wooobo
goooooo3ioobobobobodoooooboboobboooooobobobobbooooog
gobobobobbodooooobbobbboooooonooboo

0000000000000 0—00000000000000000000000000000
0000000000000 000000ywOO00000000000000004000600Qb
1=k(QS-GK)x L0x b (k=0.2,0.4,0.6,0.8,1.0)00 0 O 40 O Qb2=(kQS-GK)x L0x b (k=1.1,0.95[y cr],

[y cr],1.3)0 0 O 50 O Qb3=(k0 Qd -GK)x LOx b (kO =1.15,1.2,1.25,1.30, 0 ) 0 0 0 60 O Qb1 Qb2
000000000000 00000NDOKk—0000000000000000 Qb3
000000000000 000000ONOOKD—000000000000000Qd—000
000000O0000ONOOOCOOOODOOOOO00O0DO00O00000O00oNwW—0000000
O00000000000010m00b—0000000mO0

oo —>auaooooon

guoduobbbboogouob goooobobbooooobobobuoooobbobuouoo
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guodubbbtogogguoboobbuooooobobbuoooooobbobood
guobobobudooououogoooobbboooobbbooobobbbuooa
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guduobbbuoooouoobbgoooobbbboooobbbbooobobbobon
guodoubbbuogobu goooobobbooobobobbgooooobog

guodoubbbboogouobboboooob goooobobobuuoooobbobouoo
gobobobboooooobboobbbodoooobobboooad


http://www.tcpdf.org

